flux

A? / 0.4154

A? / 0.4142

oy 206 km/s

Fe2 + Continuum Fit

Opey 624 +/— 380 km/s X2 / 4589 = 0.4154
Fe2 —— — in L —

oy 206 km/s
- : :

00 3000 3500 4000 4500

Rest A (&)

Fe2 Scale Factor x2 Diagnosis

0.02165(61) X2/ 4589 = 0.4154
I T Y I

8 T T T T T T T T =
rm143 RMS 2.36
MAD 1.83 i
L | L | L | Al | L | L | L | L |
0.016 0.018 0.02 0.022 0.024 0.026 0.028 0.03
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
o-IV 1I15I 398? pIriC)lr ?25I krr]/Is T T T I T T I19IO(|38IO T T T I T T T T T XI2mlir| I/ 41-58|9 I= IO‘4I-15I4
L |rm143 ' RMS 54.7 -
i MAD 34.4 |
o
o — —
ol _
ol ]
o — —
| L 4
ol ]
8 - , , L A B B .
o 500 1000 1500 2000 2500 3000 3500

Fe2 Dispersion (km/s)



